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SUBJECT : PHYSICS 3. Ans(4)
a b ¢
movop g
( SECTION-A ] ; } ;
[ML’T)o [LT 'J* [ML]° [LT ]
Ans (4) comparing the powers of M, L and T and
N Al a solving, we get;
o (31 +4k).
Projection = ———— =0 b=1,c=-3,a=6
J 6
mav
2. Ans(2) 4. Ans (1)
a3b? Distance covered in last second of upward
ASP_ . . . st
cd journey = distance covered in 1~ sec. of
AP 3Aa Ab Ac Ad downward journey.
e 4+ L= L
P b c d 1 21 2
d==g[1]"= =(10)(1)"=5m
2 2
o .
so % error in P is 5. Ans(2)

Ap
T><100=3x1+2x2+3+4

= 14%

From 8 to 10 seconds velocity is negative but
acceleration is positive due to opposite sign of

'v' and 'a’ speed is decreasing.
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6. Ans(4) 10. Ans(4)
9 m/:
m/s i hm _ L
. 10 m/s * L I 6
— ~ — — L hanging 3
Vpr =Vp = Vr =10-9 = 1m/s initial configuration of chain
So time taken 3T ToTam T @H
~ 100 100
Ver 1 . .
t =100 sec. ﬁnil [cj(;r}f{iuratlon of chain
mg
7. Ans(4) =0~ (5 hen)
2 2 /m L
I:/th:/(24t2—8t)dt - (?) © |z
0 0 ~ mgL
=8t> — 4% |7 18
=8(8-0)—4(4-0) 11. Ans(2)
~64-16 W, = %m(vz —u?)
=48 kg-m/s 1
_ 1 Y
8. Ans(2) Wepy + Wep, = Sm(v? = 0%)
When block is held 2= 02+ k2 —02) = Ly
2 2 2
T=mg=3g=30N 1 7K
2 2
When block is set free kx” = 5 mv-= V=4 P
3g — 2gsin 30 30—-10
=373 - 12. Ans(l)
+ From Newton's second law,
a=4m/s’ P dp
Now T'=3(g—a)=3(10-4) dt ;
T' = 18N If F=0,thend—p:0
Change in tension =30 - 18 =12 N p = constant. t
Ans (3) Thus, if total external force acting on the
9. system is zero, then linear momentum of the
pf system remains conserved.
F=mg 13. Ans ( 3 )
—>» m<+—N
o O O
2 Uy u, =0
mg
. mg mg
Here net driving force =mg—- — = —
2 2 Va Ve
downward maup + l’IlB(O) =—MAVp + mpgVvpg
Hence friction will act upward and its MpVp — MAVA = MLV
. mg Letvg=vp=vV
magnitude should be f = = mpV - MV = muv
If the block 'm' is stationary the friction e=1= & = Jv=v
between m and the wall should be static. M v
ffflim mp —ma = (5) = mavVv
B8 N2 gy =1 MeTMATAMA
2 2 2 3ma =mp > — = —
mpg 3
HS-2/8 . .
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14. Ans(3) 18. Ans(4)
Newton First Law KE L2
15. Ans(4) s T 2r
at top most point if L = constant,
1
g then KE « T
as Iy > 15
so (KE) <(KE)g
19. Ans(2)
The escape velocity is independent of mass of
the body and the direction of projection. It
depends upon the gravitational potential at the
point from where the body is launched. Since
this potential depends slightly on the latitude
orv2 = gl=>v=,/gl and height of the point, the escape velocity
1, depends slightly on these factors.
at lowest point KE = Emu 20, Ans(4)
at top most point KE = lmv2 g _ g
2 100 h\2
by law of conservation of energy (1 + @)
1 > 1 5 h
zmu —Emv + mg (2¢0) :14.%:10
oru2=g{5+4g£=>u:\/5gﬁ h=9R,
16. Ans(2) 21. Ans(1)
MR?2 6g x 1.0
1= MR MR2 = 2MR? Moy = ———
4 A 4 Ax1x10
10g x 1.5
MR? = —1I -l
5 A = < 100
Alsteel 10g x 1.5 Ax1x10"
= X
> Alorass A x 2 x 10" 6g x 1.0
15 5
=—=—-=1.2
MR? r 12 4 >
== + MR? 22. Ans(3)
3 3 4 m; + mp
— _MR2 — —I mix mj mj
2 275 o T
6
=1 _ 3
5 1 4
77173
17. Ans(1) 30
= 1a = —1 =2.7
2
mgr = 2 4 23. Ans(3)
2 3 Ratio of gauge pressure
oo 8 p L0I—1 1
20 p2  1.02—-1 2
¢ 1
a = 5(1 p o e ?
a — £ E T 1 2
2 2¢ , 1
3g 3
a= — 3 V_l — r_l et §
4 VT SOV2_<I’2> =73
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24. Ans(3)
AL =L o AT

slope = & = La
AT
(Slope)A < (Slope)B
Ljoa < Lpop
La=Lsp
OB > Op
25. Ans(2)

For parallel combination of two rods of equal

length and equal area of cross-section :

4K
«  Kit+Ko K+ 5k

2 2 6

Hence, £ = Z
K 6

26. Ans(4)
PV =nRT
P,V.R, constant
1

m_
neT

nig  mj Tf

nr mr Ti
n T
w2 T 300
Ty = 600 K
=600 - 273 = 327°C

27. Ans(3)

U—f RT
_Zn

5 3
Utotal = 5 (2)RT + 5 (4)RT

Utotal =11RT

28. Ans(4)
TV =TV}

29. Ans(2)

13
W=102X103><E><4.2J

=028 x10°7
HS-4/8 .

30.

31.

32.

33.

34.

Ans (3)

Displacement, x = Acos(ot)

Velocity, v = j—i{ = —Ao sin(ot)
Acceleration, a = 3—: = —Ao’ cos(ot)
Ans (3)

1
E = Em(,{)zaz

E' E
= —_——=— 5 — =
E a2 E a2
" a'— iEl
' T4
;9
E =—ZE
> 16
Ans (3)

x =3 sin 100 t + 8 cos’50t

1 4+ cos 100t
2

=3sin100t+4 cos 100t +4
x =5 sin (100t + 53°) + 4

=3sin100t+8 (

= A =5, motion is SHM

Ans (3)
Let distance between cliff and mountain be d
d d
= % + m = d=170m

= < d >
v —
v=340 m/s
) 34
distance = - = 170m

Ans (3)

I = 2na’frv

2 2
I = T pv {Aslmuf:%}
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35 Ans (3) Vo Vi 1 39. Ans(2) .
Vvi=v 1+7> given -+ = 1o W_AK_E (V%_ViZ)
11 1

‘- I 3 _ 3

V=1V = 2(4) <4Xf 4Xi)

. 11 v 1 3 3

The percentage increase in v is =647

Y V_V x 100 = 10% 40. Ans(2)

1)(5)+ (1)(—3
- DO EWED)
[ SECTION-B ) - 1+1

Ans (4) Position of centre of mass at t=1s

S _ (1)(2) +(1)(8)

36. Leastcount(LC)Z(bba>MSD; Xem R S — +(1)(1)=5+1=6m
here a=9,b=10; 41. Ans (2) . .
In uniform circular motion

IMSD = Imm a,=0s0a=a,
LC= < 10109> Imm = 0.1lmm
There is zero error in measurement. ]
As the zero of the vernier lies to the left of the main v

scale, it has negative zero error. a & v are perpendicular to each other.

For negative zero error, the coinciding division is to

be read from right and it has 2™ division coinciding 42. Ans( 1 ) .

. Requried fraction
from right. Thus zero error ¥
—ZE=-2VSD=-2x0.lmm __Kr 7 ®
— 02mm Kr +Krt %Iwz —|—%MV2
Reading at measurement: 11MSD + 6VSD % MR 2’
(coinciding) =

TMR20? + S Mv2
MR? (v*/R?)
MR?2 (v2/R2) + Mv2

Corrected reading = MSR + VSR X LC — zero error
=1lmm+ [6 X 0.lmm] — (-0.2mm) = 11.8mm =
Hence the value of x =118

37. Ans(1) _ MzM—V;“ _ %

Since, angle with the horizontal is 45°, therefore v: + My

vertical height = range 43. Ans(2)

. By conservation of angular momentum
19.6=ux2oru=98ms VI = VoI
2x19.6 via(l-e) = vya(l+e)

<t—,/2h/ \/ —2560) V1—1+e—2$e—1

38. AIlS ( 4 ) V2 1—e 3
44, Ans ( 2 )

Ay
VoA, =VIA] 2 v, =V, —

2
=0.25 x (%) —4ms !

=~ horizontal range x = v, x t

/2h
Y 2><125 ax ) oom
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45. Ans(4) 53. Ans(3)
By virtue of surface tension N-F
46. Ans(3) AEN
Q = msAT 4-30=1.0
2 .
300 = =22 % S x (45 — 25) 4. Ans(1) o
1000 B,Hg acts as Lewi's acid
~ 300 x 1000
T 25%x20 55. Ans(4)
S =600 J/kg °C SF, —» T.B.P
$=600J kg °C”" 56. Ans(3)
molar heat capacity C,>C=C
C=ups B.0.=2
50
= 600 X —— i 6
101001 25 BO.=—-=15
=30J mol™ °C 0% (|) o 4
47. Ans(1) g .
c b Z |~y B.O.===133
= — pu— /= — O I O *
}Vmax T = }Vmax fmax T O' 3
SO,
{'.’ 7\‘ = E} O
f ! 2, S, B.O.=1
T ZUX,
Y =fmax =@ fmax xT  so 0 0O
on doubling temperature f,,,,, doubles Emitted 6l. Ans(3)
Q=coAT = Qo T NCERT—Xé,ng No. 3C011, Para- 1((:)1.7
So Q becomes 16 times NS NSNS
Be Be Be sp°
48. Ans(2) Cl/ \c1/ '\Cl/ N
KEayg,02  3/2KT 1 OR
KEag,Ha ~ 3/2KT T BeCl, (s) — sp’
As temp is same so average kinetic energy of gas
b ¢ e OTE 62. Ans(3)
molecule of oxygen and hydrogen will be same. CH
49. Ans(3) [ is backbonding stabilised
Time period is independent of mass of pendulum. - ©
50. Ans(4) 63. Ans(2)
At point 'C' velocity of observer will be directly 01H CH
towards the source. 6 73
5 3
SUBJECT : CHEMISTRY 4
64. Ans(1)
( SECTION-A ) 1
CN
4 3 2 1
51. Ans(3 |
(3) | CHy-CHrCHACN oy gy ey,
Zn, Cd, Hg + volatile metals (A) 2 3
PC.C.=4 ®)
52. Ans(1) e P.C.C.=3
Ni<Pd ~ Pt

HS-6/8 .
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65.

66.

68.

72.

73.

74.

76.

80.

3.

Ans (1)

A & CH; — C=CH

Ans (3)
Anti form of n - Butane is most stable due to

least torsional strain & least vanderwaals strain.

Ans (3)

Ortho effect

Ans (2)

CH,CH-Br —~— CHCH—CH-CH,
| dry ether [
CH, CH, CH,

Ans (2)

CL,  CH, CH-=CH,
CH;—CH=CH; —— |~ -

500°C 1

©

Ans(2)

_ Red Hot
3CH = CH g Tupe

Ans (4)
1
VMW
I'x (MW)y
ry { (Mw),
o [Mw)y
40 (Mw)

r«

16 (Mw),
(Mw), _ 16
(Mw), — 1

Ans (3)

Intensive property does not depend on mass.
Ans(2)

XI" NCERT part-I page No. 195 (para-2)

88.

90.

91.

92.

9s.

98.

Ans (2)

A
H;BO; —— HBO,
—-H,0
CCly + H,O — No reaction

A
C + steam — CO + H,

Ans (2)
LP.,-EAg>1Pz-EA,
IPA + EAA IPg + EAp

2 2
EN, > ENg

Ans (1)
This is called Sabatiere Senderens Reaction.

Ans (1)

CH, CH, CH,
NO,
Dil. HNO, i
—_—

ortho
NO,

(major)
Para

Ans (1)
1
stability of Alkene

H.O.H. x

Ans (3)
CaCO; — CaO + CO,

100g 44g

X I1g

1% 100
a4

X

25g

0
Too ~ 28

-~ amount of impure CaCO;y =50 g

amount of pure CaCO;=y X

SUBJECT : BOTANY

SECTION-A ]

SECTION-B
86. Ans(3)
BaCl, is limiting reagent
87. Ans(3)

Due to weak 2pp-3pp colateral overlapping it

undergoes polymerisation

103.

105.

106.

Ans (2)
NCERT XI Page 21

Ans (1)
NCERT XI, Page # 10

Ans (4)
NCERT XIth- Pg. no. 04
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108.

110.

111.

114.

115.

116.

118.

120.

123.

130.

134.

Ans (1)

NCERT-XI, Pg # 40
Ans (4)

NCERT XI (H) Pg.# 68

Ans (4)

NCERT Pg. # 72, para 4
Ans (3)

NCERT Pg.#86

Ans(2)

NCERT (XI) Pg. # 89
Ans (2)

NCERT Pg # 96

Ans (3)

If TP = OP then cell becomes fully turgid so
net movement of water takes place.

Ans(1)

NCERT XI (E) Pg #197, 198 (Topic-Iron &
copper)

Ans (4)

NCERT (XI™) (E) Pg. # 215 (3" Para)

CO, is not the product of light reaction ATP
and NADPH are.

NCERT (XI™) f&=ft U1 # 215 (3nfRadt tmm)
CO, TemeT AMNGRAT &1 3cq1g 98 © ATP Ud
NADPH 2|

Ans(1)

NCERT XI Pg # 139

Ans (3)
NCERT XI Pg.# 148

SECTION-B

137.

139.

140.

141.

HS-8/8

Ans(1)

NCERT XI, Page # 23,24
Ans (1)

NCERT XI, Pg. # 92
Ans (3)

NCERT-XI Pg. No. # 39
Ans (3)

NCERT XI Pg # 90

SUBJECT : ZOOLOGY

(

SECTION-A ]

175.

176.

177.

178.

179.

181.

182.

183.

184.

185.

Ans (4)

NCERT XIth Pg.#331

Ans (1)

NCERT XII Pg.# 00

Ans (3)

NCERT Page No. # 320, 321
Ans (4)

NCERT XI Page # 53

Ans (2)

NCERT XI Page # 54

Ans (3)

NCERT Pg.#59, Para-4.2.11.6
Ans (3)

NCERT XI Pg.No.281

Ans (4)

NCERT-XI, [E] Pg#318, [H] Pg#318
Ans(1)

NCERT XII Pg.# 00

Ans (2)

NCERT XI Pg.No.323

SECTION-B ]

186.

196.

197.

198.

200.

Ans (2)

NCERT Pg.#263

Ans (1)

NCERT-XI, Pg#287, 288
Ans (3)

NCERT XI, Pg. # 266
Ans (3)

NCERT Pg#312
Ans(1)

NCERT XI Pg.No.327




